

Solu PoW 10/3/16

Add the two equations and simplify:

$$\frac{2}{x} = (x^2 + 3y^2)(3x^2 + y^2) + 2(y^4 - x^4) = x^4 + 10x^2y^2 + 5y^4$$

Subtract the two equations and simplify

$$\frac{1}{y} = (x^2 + 3y^2)(3x^2 + y^2) - 2(y^4 - x^4) = 5x^4 + 10x^2y^2 + y^4$$

Multiply the first result by x : $2 = x^5 + 10x^3y^2 + 5y^4x$

Multiply the second result by y : $1 = 5x^4y + 10x^2y^3 + y^5$

add the previous two results and simplify

$$3 = x^5 + 10x^3y + 5xy^4 + 5x^4y + 10x^2y^3 + y^5 = (x+y)^5$$

Subtract the previous two results and simplify

$$1 = x^5 + 10x^3y^2 + 5xy^4 - 5x^4y - 10x^2y^3 - y^5 = (x-y)^5$$

so

$$3^{1/5} = x + y$$

$$1^{1/5} = x - y$$

add $3^{1/5} + 1 = 2x$

$$x = \frac{1}{2}(3^{1/5} + 1)$$

subtract $3^{1/5} - 1 = 2y$

$$y = \frac{1}{2}(3^{1/5} - 1)$$

$$\boxed{x = \frac{1}{2}(3^{1/5} + 1), y = \frac{1}{2}(3^{1/5} - 1)}$$